MATHS

BOOKS - FULL MARKS MATHS (TAMIL
ENGLISH)

STATISTICS

Progress Check



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb

1. Draw a tally mark table for the following

' Form a frequency table for&fﬁo@mgidata
s | 12 | 11| 45 | 55 | 79 [
T | 77 | 97 | 32 | 56 | 28 N
B 58 | 69 [ 24 | 12 | 99 | 55 1

121 | 39 | 80 | 65 | 54 | 44| 59 | 65

B8 | 65 | 35 | 55 | 68 | 84 1M

B80 |46 [ 30 | 49 | 50 | 61 | 59 | 33

Bl 57 a

o Watch Video Solution

2. Mean of 10 observations is 48 and 7 is
subtracted to each observation, then mean of

new observation iIs ... )

| s |


https://dl.doubtnut.com/l/_cqD1uQI3aueL
https://dl.doubtnut.com/l/_Ha5UZ08XoYPS

| ¥ Watch Video Solution ]

3. The mean of 12 numbers is 20, if each
number is multiplied by 6, then the new mean

IS seereeeeenenenes )

o Watch Video Solution

4. The mean of 30 numbers is 16, If each

number is divided by 4, then the new mean is

I o Watch Video Solution


https://dl.doubtnut.com/l/_Ha5UZ08XoYPS
https://dl.doubtnut.com/l/_AW5px0MIAeAb
https://dl.doubtnut.com/l/_dPnHTjoepIRm

5. There are four numbers, If we leave out any
one number, the average of the remaining
three numbers will be 45,60,65 or 70. What is

the average of all four numbers ?

o Watch Video Solution

6. The median of the first four whole nubmers.

o Watch Video Solution



https://dl.doubtnut.com/l/_dPnHTjoepIRm
https://dl.doubtnut.com/l/_L3josLePwck8
https://dl.doubtnut.com/l/_lot2nZaLnNCM

1. In a week, temperature of a certain place is
measured during winter are as follows
26°C,24°C,28°C,31°C,30°C,26°C,24°C

. Find the mean temperature of the week.

o Watch Video Solution

2. The mean weight of 4 members of a family is

60 kg Three of them have the weight 56 kg, 68


https://dl.doubtnut.com/l/_qnyHo52q5OPh
https://dl.doubtnut.com/l/_wQelKEtMwKk4

kg and 72 kg respectively. Find the weight of

fourth member.

° Watch Video Solution

3. In a class test in mathematics, 10 students
scored 75 marks, 12 students scored 60 marks,
8 students scored 40 marks and 3 students

scored 30 marks. Find the mean of their score.

o Watch Video Solution



https://dl.doubtnut.com/l/_wQelKEtMwKk4
https://dl.doubtnut.com/l/_sqWVfKF5JDBL

4.n a research laboratory scientists treated 6
mice with lung cancer using natural medicine .
Ten days later, they measured the volume of
the tumor in each mouse and given the results

in the table

Mouse marking b2 ot i\{ 4 \ 5 \ 6
Tumor Volume mm’) | 145 | 148 | 142 | 141 | 139 | 1

Find the mean.

° Watch Video Solution



https://dl.doubtnut.com/l/_BlQ10KIigp9w

5. If the mean of the following data is 20.2 ,

then find the value of p.

ks 100 | .a5..] - 20, 0
students | 6 8 P 10

o Watch Video Solution

6. In the class weight of students is measured
for the class records . Calculate mean weight

of the class students using direct method.

feight in kg 15-25 | 25-35 | 35-45 | 45-55 | 5565 | 65
). of students 4 1 19 | 14 | O

° Watch Video Solution



https://dl.doubtnut.com/l/_FkqvfNBhmv9p
https://dl.doubtnut.com/l/_5epwbJSpS8Al

7. Calculate the mean of the following

distribution using Assumed Mean Method.

erval | 0-10 | 1020 | 20-30
Bl .o 15

o Watch Video Solution

8. Find the Arithmetic Mean of the following

data using Step Deviation Method.

1519 | 20-24 | 25-29 4
el » [ T

° Watch Video Solution



https://dl.doubtnut.com/l/_5epwbJSpS8Al
https://dl.doubtnut.com/l/_H8tbpwiF5pQe
https://dl.doubtnut.com/l/_EZAhIwyzDmLn

1. Find the median of the given values : 47, 53,

62,71, 83, 21, 43, 41.

o Watch Video Solution

2. Find the Median of the given data : 36, 44,

86, 31, 44, 86, 35, 60, 51.

o Watch Video Solution



https://dl.doubtnut.com/l/_EZAhIwyzDmLn
https://dl.doubtnut.com/l/_MTBMoSHVkoaY
https://dl.doubtnut.com/l/_rVVBlBF6xiSR

3. The median of observation 11, 12, 14, 18, x + 2,
X + 4, 30, 32, 35, 41 arranged in ascending

order is 24. Find the values of x.

o Watch Video Solution

4. A researcher studying the behaviour of mics
has recorded the time ( in seconds ) taken by
each mouse to locate its food by considering

13 different mics as 31, 33, 63, 33, 28, 29, 33, 27,


https://dl.doubtnut.com/l/_rVVBlBF6xiSR
https://dl.doubtnut.com/l/_EyCLVv364I1D
https://dl.doubtnut.com/l/_UuDOYpV3MVsP

34, 35, 28, 32. Find the median time that mics

spent in searching its food.

° Watch Video Solution

5. The following are the marks scored by the

students in the Summative Assessment exam

40-50 |

B [ 010 [ 10-20 | 20-30 | 3040
e TR 10

Calculate the median.

1

o Watch Video Solution



https://dl.doubtnut.com/l/_UuDOYpV3MVsP
https://dl.doubtnut.com/l/_AqYCqNC9xUX7

6. The mean of five positive integers is twice
their median. If four of the integers are 3, 4, 6,

9 and median is 6, then find the fifth integer.

o Watch Video Solution

IHH%HHHE!HI

1. The monthly salary of 10 employees in a

factory are given below :

35000, ¥7000, ¥5000, ¥7000, ¥8000, ¥7000,


https://dl.doubtnut.com/l/_3P9oR8tL019j
https://dl.doubtnut.com/l/_COdq25I0LRqS

3¥7000,3%8000,3%7000,3%5000

Find the mean, median and mode.

° Watch Video Solution

2.Find the mode of the given data : 3.1, 3.2, 3.3,

21,1.3,3.3,3.1

o Watch Video Solution

3. For the data 11, 15, 17, x + 19, 19, x-2, 3 if the

mean is 14, find the value of x, Also find the


https://dl.doubtnut.com/l/_COdq25I0LRqS
https://dl.doubtnut.com/l/_6icruYVytxa7
https://dl.doubtnut.com/l/_mgeBR95S8MMf

mode of the data.

o Watch Video Solution

4, The demadn of track suit of different sizes

as obtained by a survey is given below:

EREBT 0 | | 2 a0
: B 37 | 13 | 26 |8 6

Which size is demanded more ?

o Watch Video Solution



https://dl.doubtnut.com/l/_mgeBR95S8MMf
https://dl.doubtnut.com/l/_oP6mleNZPRr0

5. Find the mode of the following data:

< ’ 0-10 10-20 20-30 30-40 ‘
dents 22 38 46 34 i

o Watch Video Solution

6. Find the mode of the following distribution :

‘Weight @(inkgs) | 2534 | 35-44“% 45-547%_;55-64 | 65-74 | 7584 |
4 | 8 | 6i

lumber of students [ 4 J 8 10

o Watch Video Solution



https://dl.doubtnut.com/l/_zVKZRTQZv2Yr
https://dl.doubtnut.com/l/_GxGiu03OY5uS
https://dl.doubtnut.com/l/_mDmCWw7ROMh8

1. Let m be the mid point and b be the upper
limit of a class in a continuous frequency

distribution. The lower limit of the class is

A.2m-b

B.2m+b

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_mDmCWw7ROMh8

2. The mean of set of seven numbers is 81. If

one of the numbers is discarded, the mean of

the remaining numbers is 78. The value of the

discarded number is

A. 101

B. 100

C.99

D. 98

Answer: C

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_dkzprXu8i3XQ

3. A particular observation which occurs

maximum number or times in a given data is

called its

A. frequency

B.range

C. mode

D. median

Answer: C

| s ]


https://dl.doubtnut.com/l/_dkzprXu8i3XQ
https://dl.doubtnut.com/l/_5UXTSLfwvgZt

| ¥ Watch Video Solution ]

4. For which set of numbers do the mean,

median and mode all have the same values ?

A 2224

B.1,3,3,3,5

C.1,1,2,5,6

D. 1,1,2,1,5

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_5UXTSLfwvgZt
https://dl.doubtnut.com/l/_PwH0pjkDFh1v

5. The algebraic sum of the deviations of a set

of n values form their mean is

A.O

B. n-1

D. n+1

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PwH0pjkDFh1v
https://dl.doubtnut.com/l/_qwDDRcRRzqO9

6. The mean of a, b, c,d and e is 28. If the mean

of a,cand e is 24, then mean of b and d is

A 24

B.36

C. 26

D. 34

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_inzq6BrX9T54
https://dl.doubtnut.com/l/_XrQovRD4p8BD

7. If the means of five observation x, x + 2, x +

4,x + 6,x + 8, is 11 then the mean of first three

observation is

A.9

B. 11

C.13

D.15

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_XrQovRD4p8BD
https://dl.doubtnut.com/l/_QcQHxEReDrAi

8. The mean of 5, 9, x, 17, and 21 is 13, then find

the value of x

A.9

B.13

C.17

D. 21

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_QcQHxEReDrAi

9. The mean of the square of first 11 natural

number is

A. 26

B. 46

C.48

D. 52

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_mvIsT2XxlQvM
https://dl.doubtnut.com/l/_IdutY7gAUv6L

10. The mean of a set of numbers is X. If each

number is multiplied by z, the mean is

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_IdutY7gAUv6L

Additional Question

1. The Arithmetic mean of all the factors of 10

A.45

B.55

C.10

D. 55

Answer: A

O Watch Video Solution



https://dl.doubtnut.com/l/_7sJNpAEBuBd9

2. The mean of five numbers is 27, if one

number is excluded, then mean is 25 . Then the

excluded numberiis . ...............

A.O

B.15

C. 25

D. 35

Answer: D

I o Watch Video Solution


https://dl.doubtnut.com/l/_7sJNpAEBuBd9
https://dl.doubtnut.com/l/_IktQu4FIRrHG

3. The mean of 8 numbers is 15. If each number

is multiplied by 2, then the new mean will be

A. 75

B.30

C.10

D. 25

Answer: B

| e |


https://dl.doubtnut.com/l/_IktQu4FIRrHG
https://dl.doubtnut.com/l/_b2wGx0P853z8

& Watch Video Solution

4.The median of 11,8,4,9,7,5,2,4,10 iS ..evevverernn.

A7

B.8

C.4

D. 11

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_b2wGx0P853z8
https://dl.doubtnut.com/l/_9xvebY2rPr1v

5. Median is ................ .

A. the most frequent value

B. the least frequenct value

C. middle most value

D. mean of first and last values

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_67RY14Qkvljx

6. The mode of the distribution is .................. )

A3

B.4

C.6

D. 14

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Rl8u33Mf45BI
https://dl.doubtnut.com/l/_3D8ooPtyhOkJ

7. Mode is .............. )

A. the middle value

B. extreme value

C. minimum value

D. the most repeated value

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_3D8ooPtyhOkJ

8. The mode of the data 72,33,44,72,81,15 is

A 72

B. 33

C. 81

D. 15

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_MwegysNPnf2S
https://dl.doubtnut.com/l/_CfeAPrutU9bH

9. The Arithmetic mean of 10 numberis -7 . If 5

is added to every number, then the new

arithmetic mean is ............... i

A 17

B. 12

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_CfeAPrutU9bH
https://dl.doubtnut.com/l/_cfddCGTjvW7S

10. The Arithmetic mean of integers from -5 to

50S weeeeren )

A. 25

B.10

C.3

D.O

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_cfddCGTjvW7S

Additional Question Answer The Following

Question

1. Find the Arithmetic mean of the following

data

o Watch Video Solution

2. Calculate the Arithmetic mean of the

following data using step deviation method.

E 0-10 [ 10-20 [ 20-30 | 30-40 | 40-50 [50=
idents | 5 T 20



https://dl.doubtnut.com/l/_jCV4OlNqd5X2
https://dl.doubtnut.com/l/_2jeiTUDHu49i

° Watch Video Solution

3. Find the median for the following data.

E 11-15 | 16-20 | 21-25 | 26-30 | 31 -
ey [ 10 13 26, ke

° Watch Video Solution

4. The Calculate the mode of the following

data

15-20[20-25[25-30[30-35]2
T EEREET

o Watch Video Solution



https://dl.doubtnut.com/l/_2jeiTUDHu49i
https://dl.doubtnut.com/l/_UNtChgf71kWD
https://dl.doubtnut.com/l/_RQO3Hdmx0wct

5. Find the mean, median, and mode of marks
obtained by 20 students in an examination.

The marks are given below.

~ To-10]10-20]20-30
1 . 4 5

o Watch Video Solution

Assignment Answer The Following Question


https://dl.doubtnut.com/l/_RQO3Hdmx0wct
https://dl.doubtnut.com/l/_gtobhklASZqC

1. If the mean of 6,x, 4 and 12 is 8 then find the

value of x.

° Watch Video Solution

2. The median of the following numbers
arranged in descending order is 25. Find the

value of x. 40, 38, 35, 2x+ 10, 2x+1, 15 ,11,8,5.

° Watch Video Solution



https://dl.doubtnut.com/l/_BsZEVAbgxwKW
https://dl.doubtnut.com/l/_YzDPkiTN61TW

3. What is the mode of the observations

11,8,10,8,15,6,7,8,12,7 and 9.

° Watch Video Solution

4. The mean of 100 observations is 50. If one of
the observation which was 50 is replaced by

150 then what will be the resulting mean ?

° Watch Video Solution



https://dl.doubtnut.com/l/_wNsPoScDMIhH
https://dl.doubtnut.com/l/_iQCfWfmRtI3z

5. Find the Arithmetic mean of

x+ 7, x+7,x+5 x+3 and x — 2.

° Watch Video Solution

6. Find the mode for the following data using

the relation : Mode = 3 median-2 mean.

16 17 18 19 (20 21
. 1 1 3 4.8 g

o Watch Video Solution



https://dl.doubtnut.com/l/_VIAra0EQqpqc
https://dl.doubtnut.com/l/_MMCdoSdlLYMZ

7. If the mean of the following data is 18.75 .

Find the value of P.

15

10

20

o0

o Watch Video Solution

8. Find the mean of the marks obtained by 30

students of class IX of a school. The marks are

20

36

92

08

40

50

88

80

70

72

70

36

40

50

50

56

60 |70

o Watch Video Solution



https://dl.doubtnut.com/l/_k5iu4IHtF9zE
https://dl.doubtnut.com/l/_nY3MC8PlMHHF

9. Find the median of the following data.

11015 [ 15-20 [ 20-25 | 25-30 [ 30-35
B0 | 16 30 | 42 | is08

° Watch Video Solution

10. Calculate the mode of the following

distribution.

Bie | 10-15 | 15-20 [ 20-25 [ 25-30 | 30-35
4 12 16 | 22 [

o Watch Video Solution



https://dl.doubtnut.com/l/_nY3MC8PlMHHF
https://dl.doubtnut.com/l/_T8rhOBSuXzNu
https://dl.doubtnut.com/l/_mHSzRSJ134Rx

